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W Computations and Algebraic Relationships

1 Which of the following represents 2

75%? (6.4F, ss, RC2)
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Unit 5: 6.4F, 6.5B, 6.5C

Susan walked 32 of the miles she set her
goal for the week. What percent of the
miles has she walked? ¢s.58 rs, rc2)

F 95%
G 80%
H 20%
J 40%

3 The shaded region represents what
percent of the grid? (s.4s, ss, rc2)

Jose ate 10 gummie bears. This was 20%
of the bag he has. How many gummie
bears are in the bag? (s.ss, rs, rc2)

F 20 gummie bears
G 100 gummie bears
H 200 gummie bears
J 50 gummie bears

A 3% C 30%
B 300% D 0.3%

5 Erica ate 0.4 of her pizza on Monday
and another 0.25 of her pizza on
Tuesday. What percent of the pizza
did she eat? (s.5¢, rs, rc2)

A 40%

65%

The Smith family had an ice cream party
and ate 80% of the 10 gallons of ice cream
they bought. How many gallons did they
eat? (6.58 rs, rC2)

F 8 gallons
G 0.8 gallons
H 80 gallons
J 2 gallons

B
C 15%
D 2.9%

7 Mary had 60 pieces of bubble gum in
a baggie. This was 40% of the bubble
gum she had. How many pieces of
bubble gum did she have? (s.4f, ss, rc2)

A 60 pieces C 50 pieces

B 120 pieces D 150 pieces
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The shaded model below shows 100%.

Which model shows 66 % %? (6.4, rs, kc2)
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Every Unit has a Formative
Assessment. The items in
the Formative Assessment
cover each of the TEKS
covered as part of the unit.
The items are written with
the same rigor and format
as items on the STAAR
Test. The verb, content, and
methods of implementation
are all considered when
developing each question.



